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1. A builder borrows ̀  2550. He has to return the

sum in two equal annual installments in two

years at compound interest rate of 4% per an-

num. Find the amount of each installment?

` 4% 

` 

(A) ̀  1352 (B) ̀  1377

(C) ̀  1275 (D) ̀  1283

2. Kamal borrows ̀  6800 which has to be paid in 2

equal annual installments including interest.

If rate is
1

12 %
2

per annum, then what is the

amount of each installment?

` 

1
12 %

2
(A) ̀  8100 (B) ̀  4150

(C) ̀  4050 (D) ̀  4000

3. A sum at compound interest rate of 5% per an-

num can be paid in two annual installments of

` 17,640 each. Find the sum borrowed? 

5%

17,640

(A) ̀  32,800 (B) ̀  32,400

(C) ̀  32,000 (D) ̀  32,200

4. A sum of ̀  210 is borrowed which has to be paid

in 2 equal installments. If compound interest

is charged at 10% per annum, then find the

amount of each installment?

210

(A) `  127 (B) ̀   121

(C) `  210 (D) ̀   225

5. A man takes a loan of ` 21,000 at compound

interest rate of 10% per annum. How much

amount of installment he has to pay at the end

of every year so that he can pay loan in 2 years?

Compund interest (Type-12)

21,000

(A) ̀  12000 (B) ̀  12100

(C) ̀  12200 (D) ̀  12300

6. A loan of ` 34,370 is returned in three annual

installments. Second installment is twice of

first installment and third installment is 3/4th

of second installment. If compound interest rate

is 10% per annum for whole time. What is the

amount of all three installments?

`34,370

10%

(A) ̀ 6,000, ̀  12,000, ̀  9000

(B) ̀  8,000, ̀  16000, ̀  12000

(C) ̀  7,000, ̀  14000, ̀  10500

(D) ̀  9317, ̀  18634, ̀  13975.5

7. Govind borrows ̀  2522 and pays at compound in-

terest rate of 5% per annum. If he pay total amount

in three equal annual installments, then find the

amount of each annual installment?

` 2,522 5%

(A) ̀  927 (B) ̀  927.10

(C) ̀  926.10 (D) ̀  930

8. A certain sum borrowed at the rate of 5% per

annum compound interest and paid back in two

equal installments each ` 882. What was the

sum borrowed?

5% `
882

(A) 1600 (B) 1680

(C) 1640 (D) 1700

9. A man buys a scooter by making a down pay-

ment of ` 16224 and promises to pay two more

yearly installments of equal amount in next two

years. If the rate of interest is 4% per annum

compound yearly, then find the cash value of

the scooter?
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` 16224 

4% 

(A) 40000 (B) 46000

(C) 46824 (D) 50000

10. A man bought a car and paid ` 12000 as down

payment. He told the seller that he would pay ̀

13050 after 1 year and ` 22680 after two years

at 
1

12 %
2

 compound interest per annum. What

is the value of car on cash payment?

` 12000 

1
12 %

2
 

` 13050 ` 22680 

(A) 51000 (B) 42575

(C) 41520 (D) 45345

11. Raju borrowed a sum of 42,000 at 10% p.a. com-

pound interest and initially planned to repay it

in two equal installments (the installment be-

ing paid at the end of each year). He actually

repaid it in three equal installments. What is

the difference between each installment ini-

tially planned and each installment actually paid

(round off to the nearest rupee)?

(A) ̀  6,226 (B) ̀  7,311

(C) ̀  9,331 (D) ̀  4,993

12. Rajat borrowed ̀  84,000 from dimpal at 20% p.a.

compound interest, compounded annually. At

the end of the first year, he cleared a certain

part of what he borrowed. At the end of the sec-

ond year, he repaid thrice the amount which

he repaid at the end of first year and cleared

the entire loan. What is the amount paid at the

end of the first year?

` 84,000 20% 

(A) ̀  32,800 (B) ̀  14,400

(C) ̀  28,800 (D) ̀  18,800

13. A man borrows 50,000 from a bank as a loan

and decided to pay it in three annual install-

ments. The rate of compound interest is 10%

p.a. compounded annually. The amount of first

and second installments are 20,000 and 25,000

respectively. What should be the amount paid

by him after 3rd year so that, the loan is com-

pletely paid?

50,000 

10%

20,000 25,000 

(A) ̀  14850 (B) ̀  15850

(C) ̀  14950 (D) ̀  14750

14. A loan is to be returned in two equal yearly
instalments. If the rate of interest is 10% p.a., com-
pounded annually and each instalment is ` 5,808,
then the total interest charged in this scheme is :

10% 

` 5,808

                                   (CGL 2019 Mains)

(A) ` 1,536 (B) ` 1,632

(C) ` 1,602 (D) ` 1,563

15. Surekha borrowed a sum of money and returned it in
two equal annual installments of ` 5,547 each. If the

rate of interest was 
1

7 %
2

p.a. compounded yearly,

then the total interest paid by her was :

` 5,547 

1
7 %

2

(CGL 2019 Mains)

(A) ̀  1,144 (B) ` 1,134

(C) ` 1,096 (D) ` 1,126
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Solution
1. (A) Let amount each installment = P

Principal = 

2
100 100

100 100
P

R R

                

 2550 =

2
100 100

104 104
P

          
     

 2550 =
25 25

1
26 26

P
   
 

 P  =  
2550 26 26

25 51

 P = 676 × 2 = 1352

2. (C) Principal =

2
100 100

100 100
x

R R

 6800 =

2
100 100

112.5 112.5
x
         
     

 6800 =

2
8 8

9 9
x
     

   

 6800 =
8 8

1
9 9

x
   
 

 6800 =
8 17

9 9
x 

 x = `4050

3. (A) Sum = 17640 × 
100

105

 
 
  

+ 17640 × 

2
100

105

 
 
  

= 17640 × 
20

21
 + 17640 × 

2
20

21

 
  
 

= 17640 × 
20 41

21 21





= 40 × 20 × 41

= `32800

4. (B) Let amount of each installment = x

ATQ,

210 = x 
100

110

 
 
  

 + x 

2
100

100

 
 
  

 210 = x × 
10

11

10
1

11

 
 

  

 x =  
210 11 11

21 10

 


= ̀ 121

5. (B) Let amount of each installment = ` x

Principal = 
100

x
100 x

 
 
  

+ 
2

100
x

100 x

 
 
  

 21000 = x
100

110

 
 
  

 + x

2
100

110

 
 
  

 21000 = x
10

11

 
 
  

10
1

11

 
 

  

 21000 = x ×
10

11
 × 

21

11

 x =
21000 11 11

10 21

 



= ` 12100

6. (D) Principal = ` 34,370

Rate = 10% = 
1

10
= 

Installment11

Pr incipal10





10
×121

11
×121

100
×11

121
×11

1000 1331

Ist IInd   IIIrd

     Ratio of installment 2    : 4     :    3

Principal Installment

1210
×2

1331
×2

1100
×4

1331
×4

1000
×3

1331
×3

Total principal = 2420 + 4400 + 3000

= ̀  9820

Ist : 2nd : 3rd

Installment = 2662 : 5324 : 3993

Accordingly to question–

9820 units = ̀  34370

 1 unit = 
34370

9820
= `3.5

Amount of first installment = 2662 × 3.5

= ̀  9317

Amount of second installment = 5324 × 3.5

= ̀  18634

Amount of third installment = 3993 × 3.5

= ̀ 13975.5
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7. (C) Rate = 5% =
1 Compound Int erest

20 Pr incipal





=
21 Installment

20 Pr incipal





Principal Installment

20
×441

21
×441

400
×21

441
×21

8000 9261

Note:–Amount of interest is same for all 3

years

If total principal =(8820 + 8400 + 8000)

= 25220 units

Then amount of installment = 9261 units

Accordingly to question–

25220 units = ` 2522

 1 unit =
2522

25220
= 

1

10

So, 9261 units =
1

9261
10

= ̀  926.10

8. (C) As, R = 5% =  
1

20

420  20
×21

  : 21
×21

400  400    : 441

820 441

If ` 441 is installment then principal

= ̀  820

But when ` 882 is installment then Principal

= 
820 882

441
 = ̀  1640

9. (C) R = 4%

4% = 
1

25

650  25
×26

  : 26
×26

625  625    : 676

1375 676

×24 ×24

` 30600 ` 16224

Total cash value of scooter

= 30600 + 16224 = ̀  46824

10. (C) Rate % = 
Interest1 1

12 %
Pr incipal2 8

A.T.Q.
Case - 1 (For One Year)

(Cash value)  

Principal     :     Amount
     (P )                     1 (A )

      8             :            9

11600                      13050

1

×1450 ×1450

Case - 2 (For Two Years)

(Cash value) 

    P                      1 A

      8                        9
      8                        9
    64                      81

17920                     22680

1

×280 ×280

Total Price of the Car = 12000 + 11600 +
17920 = ̀  41520

11. (B) According to first condition
1st year 10×11 11×11
2nd year 100 121

210 242

So each installment = 
42000

210
× 121

= 24,200
According to 2nd condition
1st year 10×121 11×121
2nd year 100×11 121×11
3rd year 1000 × 1 1331 × 1

3310 3993

So each installment = 
42,000

3310
 × 1331

= 16888.82
 Required difference
= 24,200 – 16888.82 = 7311.18 7311

12. (C) Amount accured at the end of first year

= 84,000 
20

1
100

 = 1,00,800

Let the amount paid by Rajat at the end of
first year = x
ATQ,

(1,00,800 – x) × 
120

100
 = 3x

 1,00,800 – x = 2.5x

 1,00,800 = 3.5x

 x = 28,800
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13. (A) Amount after first year = 50000 × 
11

10

= 55,000

After first installment

= 55000 – 20,000 = 35000

Amount afer 2nd year = 35000 × 
11

10

= 38500

After 2nd installment

= 38500 – 25000 = 13500

Amount after 3rd year = 13500 × 
11

10

= ̀  14850

14. (A) Let

Barrowed Money = P

Installment = 5808

110 110
P – 5808 5808

100 100

11
P – 5808 5280

10

11
P 11088

10

P = 10080

Interest = 5808 × 2 – 10080

= 11616 – 10080

Interest = 1536

15. (B)
1 3 43

7 %
2 40 40

43 × 40  43 × 43  1720 —1849  129
1600 – 1849  1600 —1849  249
129 + 249 = 378
1849  5547
1  3
378  3 × 378 = 1134


